
124 Ch. 3. Dérivative and Differential

Exercises on Chapter 3

Find the dérivatives of the following functions using the définition of 
a dérivative:

1. y =  x2. Ans. 3x2. 2. y = — . Ans. — ^ . 3 .  y — Y~x* Ans. — . 
* 9 X x 2 * V *  2 Y  X

4 . y  =  • A n s .  — . 5. y =  sin2x. Ans. 2 s in x c o s x . 6. y  =  2x2 — x.
Y  X 2x Y  X

Ans. 4x— \.
Détermine the tangents of the angles of inclination of the tangent line to 

the curves:
7. y =  x3. (a) When x = \ .  Ans. 3. (b)Whenjt =  — 1. Ans. 3. Make a drawing. 

8 . y =  (a) When * = 4 *  • Ans. — 4. (b) When x =  1. Ans. — 1. Make a drawing.

1
x ' ' 2

9. t /=  Y  * when x — 2. Ans. - —,___
2 Y  2

Find the dérivatives of the following functions:
1 0 . y —  jc 4 +  3 x 2 — 6 .  Ans. y ' =  4x3 +  6x.

Ans. y ' =  \Sx2— 2x. 12. y — X L- -X—- — x. Ans. y ' 
9 a-\~b a — b

**—*2+ l  „ , 3x2— 2x
13. y = -------r-i—  . Ans. y ’ = -----=----

11.
5*4

y  =  6x9 — X2. 
2x

a +  b a — b
- 1.

14.

Ans. y' =  6fljt2 —~  . 15. y =  6x 2 -\-4x 2 -\-2x. Ans. y ’ =  2\x  2 +  10* 2 + 2 .

y =  2ax? — c. 

5
b
3

16. y = V 3 x  +  3/ x + l .  Ans. y ' :j Q _ + _ ! ____ 1  ,7. y = l£±i>!
2 y  x ^  3 3/ ï ë  *  y  ±

Ans. y' — 3 (* +  l)s (Je— 1)
_5_

2x 2

, 1 m .
y = m ~ ^ +

Oy 0̂ 2 ,     n
+  ■ ^ 2  — -^ --  19. y =  l / rxt —2 Ÿ~ jc + 5 . Ans. y ’

ax* V *

1--------- L  . 20 . y —
3 y ~ x  v~ x  y

2_ __5_ _ 7__

. Ans. y ' = - ^  ax 3 —— bx 2 + -g -x  6 2 1 . y =y/ x x y  x y  x
— (1+4X 3) (I +  2*2). Ans. y' =  4*(1 + 3 x +  10**). 22. y =  x(2x— l) (3 * + 2 ).  
Ans. y' =  2 (9 * * + * — 1). 23. y  =  (2x— 1) (x*— 6 * + 3). Ans. y ' =  6*2— 26*+12.

24. y . W  .Ans. f r . * * or a — x Â25. y = —■— . Ans. y - 
a + x  9

2 a
&—x*.........’ (tp-x^r

26- f ( 0 — i ^ j î  • Ans- r  • 27. /  (S) = ^ ± | ü  • Ans. r  (s)

(a + 2 ) (» + 4 )
28. y  :

x» +  2
Ans. y ’ =

x4—2JC3—6x2—4x +  2
(s +  3)2 ' ™  * x2—x — 2 .............   * (jc2—x — 2)2

»• *»• , - * * - * ? .  -w.

y ’=8x(2x*— 3). 31. j/ =  (*2 + a 2)5. Ans. y=10*(jt2+ a 2)4. 32. y =  y x2-\-a2.

s
Прямоугольник

s
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Am, y ' =  *—  ■ 3 3 .  y = z ( a + x )  Y  a —x. Ans. y' = — —
V x2-\~a2 2 Y  a—x *

3 4 .  y =

1 -f  4jc

1 i“ X j* 0__
— - .  Ans. y  =

(i —x) ÿT^x*  
y  =  y / Jt2+ J t+ 1 . Ans. y ’

. 3 5 *  y  =
2x2— 1

2 j c+ 1
y i  + j

. Ans. y' ;

3 7 .

jc2 ( 1 +  x2)
"3 £ /(* * + * + 1 )*

+  ^/ts. y ' = ^ l + j ^ = - j * .  38. y =  - | /  j e + l / ’x + y '" * . 4 /is

/' 1 +  _ \ J \ ]  . 39. y  =  sin* x
1

2 Ÿ x + V x + V x  [ 2 V x + V  x  \  2 V x
Ans. y ' =  s i n  2x. 4 0 .  y =  2  s i n  j c  + c o s  3 j c . Ans. y f =  2 c o s  x —  3  s i n  3 j c .  4 1 .  y  =

— inn(ax-\-b). Ans . y '  = 4 2 .  y  =
s i n  j c

(. Ans. y'z
c o s 2 (ax +  à) 
y ' = 2  c o s  2 j c c  

k y — t sin /-j"1

A n s .  y '  =  s i n 2 t  ( 3  c o s 2 /  —  s i n 2 / ) .  4 7 .  y  =  a  l ^ c o s  2 jc .  > 4 n s .  y '

’ l + c o s j c *  ' ‘ , w * *  “  1 + c o s J C  

43. y  =  s i n  2jc c o s  3j c. Ans. y ' = 2 c o s  2jc c o s  3jc— 3  s i n  2jc s i n  3j c. 4 4 .  y = c o t 2 5jc. Ans 
y ' : —  1 0  c o t  5jc e s c 2 5j c. 4 5 .  y  — t s i n  / - { - c o s  / .  Ans. y f =  t c o s  t .  4 6 .  y = s i n 3 t c o s

a s i n  2 j c

Y  c o s  2 j c

tan -£ -f*co t7T. «  <D m * . « cP  CP .n 2 2
43. r =  ûsin3 | - .  Ans. = a  sin2 -£• cos-g-. 49. y = ---------------------

, , 2 ( j c cos jc +  sin j c) . . j c . , n . « j c j c
Ans. y = ------   «—^-5-------   . 50. y  =  a sin4 -^ . Ans. y' =  2a sin3 cos -y

* j c2 sin2 j c 2 2 2

51 y =  y t a n 2 jc. Ans. y '  =  tan jc sec2 jc. 52. y =  lncosjc. Ans. y' =  — tanjc

2
53. y =  lntanx. Ans. y ' = msln 2X • 54# i/ =  ln sin2 j c. Ans. y' =  2cotjc

„  tan j c— 1 - , , ec i s f  1+sin jc55. y  = ------------- . i4n«. y = s in  j c +  c o s  j c. 56. y =  ln 1 /  ■:-- ;—
9 sec jc 9 Y 1 — sin jc

y '= -^ è r z-  57. y  =  ïn tan ( - j + y )  • An>- y ' = ~ . 1Am.
c o s  j c  * c o s  JC

5 9 .  / ( j c )  =  s i n  ( l n  j c)
-  r ,  . .  s e c 2  ( l n  j c) i4ns. /'(*) = ---- ------

5 8 .  y =  s i n  (x + a )  c o s  ( * + a ) .  Ans. y ' =  c o s  2  ( j c + a ) .

An*. n * ) = -C0Si.ln *"- 6 0 .  /  (x) =  t a n  ( l n  j e ) .
X

•I . /(* )  =  s i n  (cosx). Ans. /' ( j c) =  —  s i n  j c c o s  ( c o s j c ) .  6 2 .  r = - , j -  t a n 8 <p —  t a n  qp +  (p

Am. ^ - = t a n 4 <p. 6 3 .  /  (jc) =  (jc c o t  jc)2. Ans. /' (jc) = 2 jc c o t  jc ( c o t  j c— jc csc2 a )
acp

«4. y =  \n (ax+b).  Ans. y' = — ^  • 65. y  =  l o g a  ( x »  +  V). Ans. y ' q _ y } j-  Q

»+* . . .  2
1—JC2

6 8 .  y  =  l n

2 j c + 1

66. y  =  l n

4n«. y' =

r --------- . i 4 n s .  y ' = -
1 —JC

2 j c — c o s  j c

( jc 2 — s i n  jc) l n  3 *

59. y =  ln(jc2 +  jc). Ans. y ’z
”*2 + x  ‘

67. y =  log8 (x2— sin x) 

1 -\-x2 Â , 4x
7 = F -  A" * y =  T = F

70. y —ln (jc3— 2ac+ 5 )

s
Прямоугольник

s
Прямоугольник

s
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Even examples must be solved in class, odd examples must be solved at home




